2 x 54 =

1 mark

584 + 8 =

1 mark

9x31=

1 mark




193 x 4

1 mark

6 x42 =

1 mark

609 + 7 =

1 mark




NN

Show
your
method

2 marks

Show
your
method

2 marks

o N

Show
your
method

2 marks




10

191703

Show
your
method

2 marks

11

Show
your
method

5312109

2 marks

12

Show
your
method

4 6(2714

2 marks




13

Show
your
method

39[546

2 marks

14

Show
your
method

o W
(@ o JISEN

2 marks

15

Show
your
method

2 marks




16

Show
your
method

34[9 18

2 marks

17

Show
your
method

N o

w ©

2 marks

18

Show
your
method

89

8099

2 marks




m Erin wants to send 340 letters. She needs to put a stamp on each
letter.

Erin can buy stamps in books of 6.

How many full books of stamps will Erin need?

full books

1 mark

How many more stamps will Erin need?

1 mark

m Ellie chose a number.

She multiplied it by 9
Then she added 61
Her answer was 1,123

What number did Ellie choose?

Show
Your
method

2 marks




There are 12 doughnuts in a box.

A shop gets a delivery of 8 boxes of doughnuts each day.

How many doughnuts are delivered to the shop in 7 days.

Show
Your
method

Show
Your
method

doughnuts
2 marks
Jules is making bunches of flowers.
Each bunch must contain 16 flowers.
Jules has 750 flowers.
How many complete bunches of flowers can Jules make?
bunches
2 marks
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